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  Question 01. Define OR. Discuss the significance and scope of OR in modern management. What are the limitations of graphical method for solving LPP?

  Question 02. Define Operation Research and discuss its scope in modern management.

 Question 03. Discuss the methodology of operation research explaining briefly the main phases of an OR         study.

  Question 03. Explain the characteristic of LPP.

  Question 04. Solve the following LP problem graphically:

Maximize Z= -X1 + 2X2 

Subject to the constraints

X1 – X2 ≤ -1

          -0.5X1 + X2 ≤ 2,      X1,X2 ≥ 0

  Question 05. Anita Electric Company produces two products P1 and P2. Product are produced and sold on a weekly basis. The weekly production cannot exceed 25 for product P1 and 35 for P2 because of limited available facilities. The company employees total of 60 workers. Product P1 requires 2 man-week of labour while P2 requires 1 man-week of labour. Profit margin on P1 is Rs. 60 and on P2 is Rs. 40. Formulate this problem as an LPP and solve using graphical method.

 Question 06. Use the Simplex method to solve the following LPP:

Max Z= 5X1 + 3X2

Subject to

4X1 + 2X2 ≤ 10,

2X1 + 2X2 ≤ 8

X1, X2 ≥ 0

Question 07. Use the Simplex method to solve the following LPP:

Min Z= 48X1 + 40X2

Subject to

3X1 + 2X2 ≥ 7

X1 + X2 ≥ 5

X1, X2 ≥ 0

Question 08. Solve the following LPP:

Min Z= X1 + X2
Subject to

20X1 + 10X2 ≥ 120

50X1 + 80X2 ≥ 740

10X1 + 60X2 ≥ 240

X1, X2 ≥ 0

Also write the Dual LP problem of the above LPP.

Question 09. Find the Dual of the following problem:

Minimize 3a + 2.5b

Subject to 2a + 4b ≥ 40

                  4a + 2b ≥ 50

                    a, b ≥ 0

Question 10. Use penalty method to solve the following LP Problem:

Min Z = 3x1 – x2

Subject to 

2x1 + x2 ≥ 2,    x1 + 3x2 ≤ 3,     x2 ≥ 4    and   x1, x1 ≥ 0
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